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Question Number : 1 Question Id : 6801918185 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

The maximum number of intensity minima that can be observed in the Fraunhofer
diffraction pattern of a single slit (width 10 um) illuminated by laser beam
(wavelength 0.630 um ) will be
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Options :
68019132201. 1
68019132202. 2
68019132203. 3

68019132204. 4

Question Number : 1 Question Id : 6801918185 Question Type : MCQ Option Shufflina : No Is

Question Mandatory : No Calculator : Scientific Response Time : N.A i
collegedunia:

Minimum Instruction Time : 0 <



Correct Marks : 4 Wrong Marks : 1

ToR § (@t 0.630 wum) GRT ISR THd 2Rl (FIST 10 um) P
TSGR [dac e § <@l ol T+ ard] diedl & (198 B fsHan g
Gl

_n

faa 2 —
| S

5

—t et

4.
Options :
68019132201. 1
68019132202. 2
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Question Number : 2 Question Id : 6801918186 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

If the temperature of the source 1s increased. the efficiency of Carnot engine:

1. mcreases

2. decreases

3. remains constant

4, first increases and remains constant

Options :

68019132205. 1
68019132206. 2
68019132207. 3

68019132208. 4

Question Number : 2 Question Id : 6801918186 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1 .
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Options :
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Question Number : 3 Question Id : 6801918187 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Arrange the viscosities of the following fluids in descending order
A. Glyeerine

B. Honey

C. Machine oil

D. Blood

Choose the correct answer from the options given below

1. (A). (B). (C). (D).
2. (A), (C). (B). (D).
.(B). (A). (D). (C).
.(C). (B). (D). (A).
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Options:

680191322009. 1
68019132210. 2
68019132211.3

68019132212. 4

Question Number : 3 Question Id : 6801918187 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : NLA
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Correct Marks : 4 Wrong Marks : 1 "
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Options :

68019132209. 1
68019132210. 2
68019132211. 3

68019132212. 4

Question Number : 4 Question Id : 6801918188 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Consider a solid cylinder of mass M and radius R. What will be the moment of
inertia on the surface of the cylinder.

1. £ MR?

2. :MR

3. 2MR

4. MR
Options :
68019132213. 1
68019132214. 2
68019132215. 3

68019132216. 4

Question Number : 4 Question Id : 6801918188 Question Type : MCQ

Question Mandatory : No Calculator : Scientific Response Time : N.A collegedunlag
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Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68019132213, 1
68019132214. 2
68019132215. 3

68019132216. 4

Question Number : 5 Question Id : 6801918189 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

The door of a running refrigerator inside a room 1s left open. Choose the incorrect
statements:

(A) the room will be cooled slightly

(B) the room will be warmed up gradually

(C) the room will be cooled to the temperature inside the refrigerator

(D) the temperature of the room will remain unaffected

Choose the correct answer from the options given below:

1. (A). (C) and (D) only
2.(A). (B) and (C) only
3.(B).(C) and (D) only
4. (A). (B) and (D) only

Options :
68019132217. 1
68019132218. 2

68019132219. 3

68019132220. 4 .
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~



Question Number : 5 Question Id : 6801918189 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68019132217. 1
68019132218. 2
68019132219. 3
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Question Number : 6 Question Id : 6801918190 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The reversible engine and an irreversible engine are working between the same
temperatures. The efficiency of:

1. both 15 same

2. reversible 1s greater

3. ureversible 1s greater

4. wreversible 15 twice to the reversible

Options :

68019132221. 1

68019132222, 2
68019132223 3 gcollegedumas
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68019132224. 4

Question Number : 6 Question Id : 6801918190 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68019132221. 1
68019132222. 2
68019132223. 3

68019132224. 4

Question Number : 7 Question Id : 6801918191 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Arrange the following in ascending order of energy

(A). Radio waves

(B). Microwaves

(C). Infrared rays

(D). X-rays

Choose the correct answer from the options given below:

1. (A). (B). (C). (D).
2. (A), (C), (B). (D).
.(B). (A). (D). (C).
.(C). (B). (D). (A).
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Options :
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68019132227. 3
68019132228. 4

Question Number : 7 Question Id : 6801918191 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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68019132225. 1
68019132226. 2
68019132227.3

68019132228. 4

Question Number : 8 Question Id : 6801918192 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Two planets P; and P, having masses M; and M, revolve around the sun n
clliptical orbits with time period T; and T, respectively. the minimum and
maximum distances of planets P; from the sun are R and 3R respectively. Whereas
for planet P,. these are 2R and 4R respectively. Where R 1s the constant. Assuming
M, and M, are much smaller than the mass of the sun, the magnitude of T,/T; 15

3 3 13M,
2.[2M;

42 |2M,
3,31,

Options :

68019132229. 1
68019132230. 2
68019132231.3

68019132232. 4

Question Number : 8 Question Id : 6801918192 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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68019132229. 1
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Question Number : 9 Question Id : 6801918193 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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If the ratio of i1sothermal and adiabatic elasticities 15 E—‘q then which of the
T

tollowing are not true?
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Choose the correct answer from the options given below:

.(A). (B) and (D) only.
. (A). (B) and (C) only.
. (A). (B). (C) and (D).
4. (B). (C) and (D) only.

|

L]

Options:

68019132233. 1
68019132234. 2
68019132235. 3
68019132236. 4

Question Number : 9 Question Id : 6801918193 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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2. Had (A), (B) 3R (C)
3. (A). (B). (C) 3R (D).
4.%ad (B), (C) 3R (D)
Options :
68019132233, 1
68019132234, 2
68019132235. 3

68019132236. 4

Question Number : 10 Question Id : 6801918194 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Choose the incorrect statements:

(A). A particle can travel in free space faster than the veloeity of light in free space.
(B). A particle can travel in a material medium faster than the velocity of light in
free space.

(C). A particle can not travel in the material medium.

(D). The velocity of light in free space 18 an absolute constant.

Choose the correct answer from the options given below:

1. (A). (B) and (D) only.
2.(A). (B) and (C) only.
A

3. (A). (B). (C) and (D). .
4. (B). (C) and (D) only. collegedunia:
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68019132237. 1
68019132238. 2
68019132239. 3

68019132240. 4

Question Number : 10 Question Id : 6801918194 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :
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68019132238. 2
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Question Number : 11 Question Id : 6801918195 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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A satellite 1s revolving round the carth with a speed of 7.6 km/s.. What 1s your
estimation of the height of the satellite from the earth surface. consider the mass of

the earth = 6.10%* kg and radius of the earth = 6400 km

. 500 km
. 550 km
. 600 km
4. 650 km

Options:
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68019132241.1
68019132242. 2
68019132243. 3
68019132244. 4

Question Number : 11 Question Id : 6801918195 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :
68019132241. 1
68019132242. 2
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Question Number : 12 Question Id : 6801918196 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0 g
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Two particles are moving in opposite directions each other with a speed 0f 0.9 ¢ 1n
laboratory frame of reference. The relative veloeity of one particle to other 1s:

. 0.90¢
. 0.99¢
2. 1.8e
4.0.81¢

Options :

|

68019132245. 1
68019132246. 2
68019132247. 3
68019132248. 4

Question Number : 12 Question Id : 6801918196 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 13 Question Id : 6801918197 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Let's consider nitrogen gas obeys the Van der Waals equation of state with best fit

ey '
value of the parameters a = 0.14Pa.m® / mol* and b= 39.0cm’ / mol Estimate
approximate diameter of the nitrogen gas molecules. Assume each molecule 1s a
sphere.

1.3.9% 107 em
2.7.8 x 1077 em
. 1.9% 1078 em
4.4.0= 108 em
Options :
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68019132250. 2
68019132251. 3

68019132252. 4

Question Number : 13 Question Id : 6801918197 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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2. TR x lli}_'T CM
3.1.9 % 1072 em
4.4.0 < 1075 em

Options :

68019132249. 1
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68019132252. 4

Question Number : 14 Question Id : 6801918198 Question Type : MCl(
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Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A system consists of two phases maintained at constant temperature (T) and
pressure (p). The number of moles present in phase 1 and phase 2 of the system is
represented by n; (where 1=1.2) and Gibbs free energy per mole of phase 1 at this

temperature and pressure 15 g; . The necessary condition for equilibrium:
&i(T. p) J

.21(T.p>5T.p
.51 T.p)=5(T.p)
g1 (T.p)<g (T.p)
.81 (T.p)=-8>(T.p)
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Options :

68019132253. 1
68019132254. 2
68019132255. 3
68019132256. 4

Question Number : 14 Question Id : 6801918198 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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4.1 (T.p)=-g,(T.p)
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Question Number : 15 Question Id : 6801918199 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

In a heat engine based on the carnot cycle. heat 1s added to the working substance
at constant

. Entropy

. Temperature
3. Volume

4. Pressure

|

Options :

68019132257. 1
68019132258. 2
68019132259. 3

68019132260. 4

Question Number : 15 Question Id : 6801918199 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options:
68019132257. 1
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68019132259. 3

68019132260. 4
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Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Find the force of attraction between two balls each of mass 1kg when their centers
are 10cm apart?

1.66.7x10° N
2.667x107°N
3.0.667x10°N
4.66Tx 10N

Options :

68019132261. 1

68019132262 2

68019132263. 3

68019132264. 4

Question Number : 16 Question Id : 6801918200 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
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1.66.7x 10°N
2.667x10°N
3.0.667Tx10°N
4.667x10°N

Options:

68019132261. 1
68019132262. 2
68019132263. 3

68019132264. 4

Question Number : 17 Question Id : 6801918201 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Scientific Response Time : N.A .
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Correct Marks : 4 Wrong Marks : 1
Match List I with List IT

LISTI LISTII
Physical guantity Dimensions
A |Planck's constant L [_‘pﬂ: I“:]
B. |Stopping potential IL |[MZiT347Y)
C. |Work functions I11. [MI: I“l]
D. |de-Broglie wavelength| IV. |[L]

Choose the correct answer from the options given below:

L. (A) - (I). (B) - (II). (C) - (IIT). (D) - (IV)
2. (A) - (D). (B) - (II). (C) - (I). (D) - (IV)
3.(A) - (). (B) - (I). (C) - (IV). (D) - (II)
4. (A) - (D). (B) - (IV). (C) - (I). (D) - (I)

Options:

68019132265. 1
68019132266. 2
68019132267. 3
68019132268. 4

Question Number : 17 Question Id : 6801918201 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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- feu T fosedl & 9§ 95l SR A |

L. (A) - (I). (B) - (I). (C) - (IIT). (D) - (IV)
:

. (A) - (IIT). (B) - (I). (C) - (I). (D) - (IV) .
3. (A) - (I). (B) - (I1), (C) - (IV). (D) - (IIT) collegedunia:
4. (A) - (IIT). (B) - (IV). (C) - (I). (D) - (II)) -

REIE




Options :

68019132265. 1
68019132266. 2
68019132267.3
68019132268. 4

Question Number : 18 Question Id : 6801918202 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Find the wavelength shift in the relativistic Doppler effect for the Ho (6563A) line
emitted by a star receding from the earth with a relative velocity 0.1c.

. 7256 A
L6563 A
. 1693 A
4.693 A

Options :

faad b3 =

68019132269. 1
68019132270. 2
68019132271. 3
68019132272. 4

Question Number : 18 Question Id : 6801918202 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

& SITR UHTG H. et & FrY JIUe a7 0.1c B Tid 9 Ui §ed gL TD
aR gRT 3fold He (6563A) &1 & forg aevged 9fd &1 91d a3-

1. 7256 A
2.6563 A
3.1693 A
4,693 A

Options : .
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68019132270. 2
68019132271. 3

68019132272. 4

Question Number : 19 Question Id : 6801918203 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

In an inelastic collision

1. the mitial kinetic energy 1s equal to final kinetic energy.

2. the kinetic energy remains constant.

. the final kinetic energy 1s less than the imitial kinetic energy.
4. the final kinetic energy is more than the initial kinetic energy.

L]

Options :

68019132273. 1
68019132274. 2
68019132275.3
68019132276. 4

Question Number : 19 Question Id : 6801918203 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
TS AT I H

1. ORI s Sul Sifd| TTids $oil & SRR 8l ol
2. T Gl fRR Wl

3. i\ iAo SHoll URMYS Tias 3ol 9 &9 8idl o

4. JiTAH TS FHoll TRIYS s SHol § 349w Bl

Options :

68019132273. 1
68019132274. 2

68019132275. 3 gcollegeduniag

68019132276. 4 N



Question Number : 20 Question Id : 6801918204 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Match List I with List IT

LISTI LISTII
s " d*F
AL I =
v
3*G
B. | I: |=% ar
P
dF/T
b oD
C. |H I11 ar |,
aG/T
C; i (_)
D L vV aT |,

Internal energy (U). Specific heats (C,, C,). Enthalpy (H). Helmholtz free energy

(F) and Gibbs free energy (G) are the thermodynamic variables.
Choose the correct answer from the options given below:

1. (A) - (D), (B) - (II), (C) - (IIT), (D) - (IV)
2. (A)-(IV),(B) - (1), (C) - (11). (D) - (I)
3. (A) - (III). (B) - (IT). (C) - (IV). (D) - (I)
4. (A) - (IIT). (B) - (IV). (C) - (I). (D) - (II)

Options :

68019132277. 1
68019132278. 2
68019132279. 3

68019132280. 4

Question Number : 20 Question Id : 6801918204 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

gcollegedunias

~



1.1 SR .11 1 HaE o

- -
) - d*F
At 1 —
Vv
. 2°G
B. |Cy I =
P
9F/T
-- I
c |z 11 =2l
9G/T
o e
D.|C, v =2

3iaie® S (). falkw &= (¢, ¢,). T (). Sesiees 9o Sul(F) 3R
fiTe8 gad SHa1l(G) FHIIS R
- f&u T fowedi & 9 9el SR 941

L. (A)-(I).(B)-(II). (C) - (II). (D) - (IV)

2. (A) - (IV). (B) - (IIT). (C) - (IT). (D) - (I)

3.(A) - (IID). (B) - (IT). (C) - (IV). (D) - (I)
4.(A) - (IIT). (B) - (IV). (C) - (I). (D) - (II)

Options :

68019132277. 1
68019132278. 2
68019132279. 3
68019132280. 4

Question Number : 21 Question Id : 6801918205 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The zero point energy of harmonic oscillator 1s:

1. hw

l?
-5 R

3. 2hw

A

1. 2 fiw
Options :

68019132281. 1 gcollegedunias

68019132282. 2 N



68019132283. 3
68019132284. 4

Question Number : 21 Question Id : 6801918205 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

31! gifer Bt g fag ol &

1. hew

"
L. =
> 1w

3. 2hw

4. i hew
Options:
68019132281. 1
68019132282. 2
68019132283.3

68019132284. 4

Question Number : 22 Question Id : 6801918206 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The law. governing the force between electric charges 1s known as

1. Ampere's law
2. Coulomb's law
3. Faraday's law
4, Ohm's law

Options :
68019132285. 1
68019132286. 2

68019132287. 3

68019132288. 4 Qcollegedunias.

~



Question Number : 22 Question Id : 6801918206 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

[ggd 31a¥ll & o419 90 & YA ¥ JEd Fud & SFE o1l §

1.@@@%@:
2. P Pl

3. e &1 g
4. 3 %1 g

Options:

68019132285. 1
68019132286. 2
68019132287.3

68019132288. 4

Question Number : 23 Question Id : 6801918207 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which one of the following pairs of phenomena illustrates the particle aspect of
wave particle duality?

. Compton effect and Bragg's law

. Photoelectric effect and Compton effect
. Compton effect and Pauli's principle

4. Bragg's law and Photoelectric effect

|

Laa

Options :

68019132289. 1
68019132290. 2
68019132291. 3

68019132292. 4

Question Number : 23 Question Id : 6801918207 Question Type : MC! @collegedumas



Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

?Eﬁfl@ﬁu&uc%ﬁ%? il T 1 I U o DU 5d b HUI U Bl S=idl
1. BTG YT 3R s &1 [0
2. YPIRIdGgd UHId 3R DIme YHId

3. DI YHIT SR 913l o RiGid
4. ST 1 999 SR YSRIdegd UHIa

Options :

68019132289. 1
68019132290. 2
68019132291. 3

68019132292. 4

Question Number : 24 Question Id : 6801918208 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The following particle are moving with the same velocity. arrange their associated
de-Broglie wavelength in increasing order:

(A). electron

(B). proton

(C). neutron

(D). a-particle

Choose the correct answer from the options given below:

1. (A). (D). (C). (B).
2. (D). (C). (B). (A).
3. (B). (A). (D). (C).
4.(C). (B). (D). (A).

Options :

68019132293. 1
68019132294. 2
68019132295. 3

68019132296. 4 gcollegedunias

~



Question Number : 24 Question Id : 6801918208 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

[afciiad Sur GHH o7 9 31 96 38 5. 30| Gids ol-sidl aill & §gd
Y T gaid @

(A) FaaEH

(B) I

(C) =g
(D). a-PU]
4 fau Tt fasedl & T 981 SR |

1. (A). (D). (C). (B).
2. (D). (C). (B). (A).
3. (B). (A). (D). (C).
4. (C). (B). (D). (A).

Options :

68019132293. 1
68019132294. 2
68019132295. 3
68019132296. 4

Question Number : 25 Question Id : 6801918209 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Let Ny Ngg: Nep denote the number of ways in which two particles can be

distributed 1n two energy states according to Maxwell-Boltzmann. Bose-Einstein
and Fermi-Dirac statistics respectively. then Ny p: Ngg: Ny 18

1. 4:1:3
2.4:3:1
3433
4. 4:3:2

Options :
68019132297. 1

68019132298. 2 :
collegedunia:

68019132299. 3 ~



68019132300. 4

Question Number : 25 Question Id : 6801918209 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

UL HFqdd-alccoltd, a19-3EH AR BH-SRIS 3fids] & FTUR &l
Sl sfaedrsfi B faafa fean o 9edl 81 98 Nyg: Nge: Nep ©

.4:1:3
.4:31
423

4, 4:3:2
Options :

= =

L]

68019132297. 1
68019132298. 2
68019132299. 3
68019132300. 4

Question Number : 26 Question Id : 6801918210 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A parallel beam light with wave length A 18 incident normally on a thin film of
thickness t. The condition for observed bright rings,

2t =nh
1= nh
2t=Q2n-1Dh
4.1=2n-1)x

2 =

Taa

Options :
68019132301. 1
68019132302. 2

68019132303. 3 .
collegedunia:

68019132304. 4 S



Question Number : 26 Question Id : 6801918210 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

). TG BT TS YHFICR U 4o ¢ HICTs & UP aa hed TR SR
3{Tafad gial o) €PId < aedi & ferg 20,

1. 2t=nh

2. t=nh

3.2t=(2n-1) &

4.t=(2n-1) 1
Options:

68019132301. 1
68019132302. 2
68019132303. 3

68019132304. 4

Question Number : 27 Question Id : 6801918211 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A mass-spring system is used to model the vibrations of a building during an
carthquake. How can the natural frequency of the system be tuned to reduce the
risk of resonance with earthquake frequencies?

1. Increase the mass.

2. Decrease the spring constant.

3. Add additional springs in parallel.
4. Add additional springs in series.

Options :

68019132305. 1
68019132306. 2
68019132307.3

68019132308 4
gcollegedunias

~



Question Number : 27 Question Id : 6801918211 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

YU B SR UD AR DUl Bl HIsd B & (o4 U H1Y-REIT Joreil &1
ST a1 11 § | Y& S1afdi & 1Y 1S & oiiad Bl BH H- & g
VU @1 AT fad SMaft Bl sl o fha off 9l 82

1. GO 9gThR
2. BT BRI$ & HH b

3. JEFIGR | sffaiad B sigar
4. g # Sffdivead &g wigax

Options :

68019132305. 1
68019132306. 2
68019132307. 3

68019132308. 4

Question Number : 28 Question Id : 6801918212 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

The physical significance of the quality factor (Q) in a damped oscillator 1s:

1. Determines the initial amplitude.
2. Indicates the degree of damping.
. Influences the natural frequency.
4. Represents the total energy.

Taa

Options :

68019132309. 1
68019132310. 2
68019132311.3

68019132312. 4

Question Number : 28 Question Id : 6801918212 Question Type : MC( gcollegedumas

~



Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

U qricd qifer I gl R (Q) BT Hifd® Ued o
1. URI 3 AeiRd erarg |

2. 3qHe i difc iar gl

3. M Id® SIgRi &1 UHIdd S gl

4. 9d SHoll Bl SR § |
Options :
68019132309. 1
68019132310. 2
68019132311.3
68019132312. 4

Question Number : 29 Question Id : 6801918213 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Select the correct alternative (s): The heavier of the two particles has smaller de-
Broglie wavelength when both of them:

(A). move with same velocity

(B). move with same momentum
(C). move with same kinetic energy
(D). fall through same height

1. (A). (B) and (D) only.
2. (A). (B) and (C) only.
3. (A). (B). (C) and (D).
4. (A). (C) and (D) only.

Options:

68019132313. 1
68019132314. 2
68019132315.3

68019132316. 4

Question Number : 29 Question Id

gcollegedunias

: 6801918213 Question Type : MCQ Ui)tlon SNuTTIiNg : NO 1S



Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

ol f[amedl &1 907 : 51 SO A T YR DI SI-s1Tel aeed $H gidl & o/ d
GIARIE

(A) FAF A TAd &

(B) 99 Ha7l & 1Y 7Tfd H

(C) THM T FHuit & 1Y T &

(D) U& Bl SaTg 9 R

1. %ad (A), (B) 3R (D)
2. %ad (A), (B) 3R (C)
3. (A). (B). (C) 3R (D)

4.%ad (A), (C) 3R (D)

Options :

68019132313. 1
68019132314. 2
68019132315. 3

68019132316. 4

Question Number : 30 Question Id : 6801918214 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Match List I with List IT

LISTI LISTII
Interference I. |Zone Plate
Double Fefraction II. |Double Slit Grating

Fraunhofer Dhffraction | III. |Babinet Compensator

ofa[w]=

Fresnel Daffraction IV |Llvod mirror

Choose the correct answer from the options given below:

(A) - (I). (B) - (II). (C) - (ITT). (D) - (IV)
. (A) - (IV). (B) - (III). (C) - (II). (D) - (I)
- (A) - (). (B) - (II). (C) - (IV). (D) - (I1I)

4. (A) - (III). (B) - (IV). (C) - (D). (D) - (II)
Options : gcollegedunias

~
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68019132317. 1
68019132318. 2
68019132319. 3

68019132320. 4

Question Number : 30 Question Id : 6801918214 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

1 1 1 i 11 ¥ e Sifeu
T Ll
A |afa@ L [GF wie
B. |fg 3/gadq 1. |faferdt ufdn
C. |Traere: fagd+| 111, Sl duadel
D. |thud faacH IV. [eOrs gy

frafaiad fawedl O 9 el 3R &1 994 $Ifoiu

L. (A) - (I). (B) - (II). (C) - (IIT). (D) - (IV)
2. (A) - (IV). (B) - (III). (C) - (II). (D) - (I)
3. (A) - (I). (B) - (IT). (C) - (IV). (D) - (ITI)
4. (A) - (III). (B) - (IV). (C) - (I). (D) - (II)

Options:

68019132317. 1
68019132318. 2
68019132319.3
68019132320. 4

Question Number : 31 Question Id : 6801918215 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

gcollegedunias

~



What 1s the phase difference between the driving force and the velocity in a forced
harmonic oscillator at resonance?

1.0
2.90°

3. 180°

4. 270°
Options :
68019132321. 1
68019132322. 2
68019132323. 3

68019132324. 4

Question Number : 31 Question Id : 6801918215 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

3G UR Ueh YUllfed SfTach qlferd § URe & 3R 971 & sid PeiiaR o1 82

1.0
2. 90°
. 180°
4, 270°

Options :

Tad

68019132321.1
68019132322. 2
68019132323. 3

68019132324. 4

Question Number : 32 Question Id : 6801918216 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

gcollegedunias

~



Which of the following statements about Lissajous figures 1s TRUE?

1. They represent the trajectory of a single harmonic oscillator.

2. The shape depends only on the amplitudes of the oscillations.

. Circular Lissajous figures occur when the frequencies are incommensurate.
4. Lissajous figures are not affected by phase differences.

L]

Options :

68019132325. 1
68019132326. 2
68019132327. 3

68019132328. 4

Question Number : 32 Question Id : 6801918216 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

e S il & R & Hafafad O 9 & F 91 $YF 981 82

1. 4 UHd 3ATad! Siferd & YaY Uy &l ufa-ita sdl g |

2. PR Had gla-l & maH ) R sear gl

3. JUIPR [CrITory SMTepical ad Bid © ofd Sghal $[=Td gid B
4. feraTorg apfaal SaiaR I wHIfad el sidi g |

Options :

68019132325. 1
68019132326. 2
68019132327. 3

68019132328. 4

Question Number : 33 Question Id : 6801918217 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

gcollegedunias

~



When the phase velocity of an electromagnetic wave depends on frequency 1 any
medium, the phenomenon is called

. Absorption
. Dispersion
. Polarization
4. Scattering

2 =

faa

Options :

68019132329. 1
68019132330. 2
68019132331.3
68019132332. 4

Question Number : 33 Question Id : 6801918217 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

o fopl fagga T g avT &1 S a1 fot off arery § sy R iR
PRl ©. Il TRYeH & gl ol 8

1@@@%
3%?1‘1@

Options :

68019132329. 1
68019132330. 2
68019132331. 3

68019132332. 4

Question Number : 34 Question Id : 6801918218 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A

gcollegedunias

~

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Arrange the following substance i descending order of specific heat
(A). Aluminium

(B).Carbon

(C). Copper

(D). Lead

Choose the correct answer from the options given below:

1. (A). (B). (C). (D).
2. (A), (C). (B). (D).
3.(B). (A). (D). (C).
4. (C). (B), (D), (A).

Options :

68019132333. 1
68019132334. 2
68019132335.3
68019132336. 4

Question Number : 34 Question Id : 6801918218 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fAafaRad gared &1 [afRY S 1 & Jaic] HH § coard &
(A)

(B) %

(C) didl

(D) WS

- feu e o el O 9§ 981 S 9|

1. (A). (B). (C). (D).
2. (A), (C). (B). (D).
3.(B). (A). (D). (C).
4.(C). (B). (D). (A).

Options :

68019132333. 1
68019132334. 2
68019132335. 3

68019132336. 4

gcollegedunias

~



Question Number : 35 Question Id : 6801918219 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The conservation of linear momentum leads to Newton's

1. First law
2. Second law

3. Third law
4. Not related to any newton's law

Options :

68019132337. 1
68019132338. 2
68019132339. 3

68019132340. 4

Question Number : 35 Question Id : 6801918219 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

RGP a7 BT WefU1, FeA & g Fam ot R A e §

1. gon fHgH
2. g8 Iy
3. diR Fas
4. g2 & [t i oy 9§ defdd =18l
Options :
68019132337. 1
68019132338. 2
68019132339. 3

68019132340. 4

Question Number : 36 Question Id : 6801918220 Question Type : MCO Ontion Shufflina : No Is

Question Mandatory : No Calculator : Scientific Response Time : N.A gcollegedunias

Minimum Instruction Time : 0 ~



Correct Marks : 4 Wrong Marks : 1

In sound waves. which property 1s determined by the amplitude of the wave?

1. Pitch

2. Loudness
3. Frequency
4. Quality

Options :

68019132341. 1
68019132342, 2
68019132343.3
68019132344. 4

Question Number : 36 Question Id : 6801918220 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

e T H, DI 1 0 IR D 1A gRIT HeTRa fbar oirar g2

1. o=
2. digdr

3. 3M1gf

4. 1]U1adl
Options :
68019132341. 1
68019132342, 2
68019132343. 3

68019132344. 4

Question Number : 37 Question Id : 6801918221 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A

gcollegedunias

~

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



An electron moving towards x-axis. An electric field 1s along y-direction then path
of electron 1s

1. Circular

2. Parabola

3. Rectangular
4. Elliptical

Options :

68019132345. 1
68019132346. 2
68019132347.3

68019132348. 4

Question Number : 37 Question Id : 6801918221 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

U S x-31& DI SR A PIIWI & | U [dgyd e y-enH e gang ol
ENCEEEARI

1. DR
2. IRATUTHR

3. AP
4.4 ﬁ@ﬂlﬁi S

Options :

68019132345. 1
68019132346. 2
68019132347. 3

68019132348. 4

Question Number : 38 Question Id : 6801918222 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
gcollegedunias

~



The angle between the dipole moment and electric ficld at any point on the
equatorial plane is

0°
45¢
3.90°
4.180°

Options :

|

68019132349. 1
68019132350. 2
68019132351. 3
68019132352. 4

Question Number : 38 Question Id : 6801918222 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

%{qwﬁﬂuaﬁww 1ff foig TR fgydra amyul @ik faggd &9 & d g BT HI0l

0°
45¢
3.90°
4. 180°

Options :

2 =

68019132349. 1
68019132350. 2
68019132351. 3

68019132352. 4

Question Number : 39 Question Id : 6801918223 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

gcollegedunias

~



The cyclotron frequency (@) at which a particle of mass m and charge ¢ would
revolved in the absence of any electric field (E).

B
1. (U:q—z
m
B
2. m:q—
m
2
B
.3. (u:q—
m
B
“ m
Options :

68019132353. 1
68019132354. 2
68019132355. 3

68019132356. 4

Question Number : 39 Question Id : 6801918223 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

qIEaiICH SHGRT (o) FoRT R So089H m 3R 3M14%1 g &1 0P Ul [Bl faggd
&7 (E) & 341d § g1 5|

B
1. @ :q—z
m
B
I
"
B
m
B
4 ) =——

Jm

Options :
collegedunia:

68019132353. 1

~



68019132354. 2
68019132355. 3

68019132356. 4

Question Number : 40 Question Id : 6801918224 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Gauss's law 1s valid for

1. Any closed surface
2. Only regular closed surface
3. Only open surface
4. Only irregular open surface

Options :

68019132357. 1
68019132358. 2
68019132359. 3

68019132360. 4

Question Number : 40 Question Id : 6801918224 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Y B FgH 39k Ay A B

1. ®ig 4l g Ids

2. had Fafd =9 9 § 9d8
3. dd Gl g

4. aa fi-1aiHd gl Idg

Options :

68019132357. 1
68019132358. 2

68019132359. 3 gcollegedunias

68019132360. 4 -



Question Number : 41 Question Id : 6801918225 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The ratio of charge (q) to potential (V) of a body 1s known as

1. Resistance

2. Conductance
3. Inductance
4. Capacitance

Options :

68019132361. 1
68019132362. 2
68019132363. 3
68019132364. 4

Question Number : 41 Question Id : 6801918225 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fopfl % & 3MTAY (q) SR faUd (V) & 391 DI Sl SA1 § -

1. UfcRIY
2. gIaed
3. IRPbd
4. TR

Options :

68019132361. 1
68019132362. 2
68019132363. 3
68019132364. 4

estion Number : 42 Question Id : 6801918226 estion Type : MC( .
Question Nu Quest Question Typ gcollegedumas

Question Mandatory : No Calculator : Scientific Response Time: N.A -



Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

According to Schrodinger a particle is equivalent to :

. a single wave

. a wave packet

. a light wave

4. can not behave as wave

|

L]

Options :

68019132365. 1
68019132366. 2
68019132367.3
68019132368. 4

Question Number : 42 Question Id : 6801918226 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

HIISTR & S8R TP DUl 58S e o

1. T ddl

2. U9 a1 dpd (Ude)

3. U Uh T a1

4. T8 & &4 H deR "ol 3 IHd

Options :

68019132365. 1
68019132366. 2
68019132367. 3

68019132368. 4

Question Number : 43 Question Id : 6801918227 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1 .
collegedunia:
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Match List I with List II

LISTI LISTII
Physical quantity Symbols have their usual meaning
h
A |Stopping potential = L
\..' 2]]1 h malt
B. |Work finetion = n |20
h
C. |Threshold frequency = |IIL. |E — Hm ax
-
D. |de-Broglie wavelength =| TV L
e

Choose the correct answer from the options given below:

1. (A) - (). (B) - (II). (C) - (IIT). (D) - (IV)
2. (A) - (IT). (B) - (II). (C) - (I). (D) - (IV)
. (A) - (IIT). (B) - (II). (C) - (IV). (D) - (I)
4. (A) - (V). (B) - (D). (C) - (I1). (D) - (I)

L)

Options :

68019132369. 1
68019132370. 2
68019132371.3

68019132372. 4

Question Number : 43 Question Id : 6801918227 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

gcollegedunias

~



-1 SR Fl-11 o1 faH Sifey

S HR-IT
Mifdes A | wdte! &1 orum s i ¢
h
A PRI fava = I \'ﬁ
B. [@r we - I %
1
C. [tetomfi= | [E - Kpax
D. [ST-sieft q¥mmaes =[ Iv. H’;“-"
< 4T U fdoedl § 9 Hel SR I |

1. (A) - (). (B) - (II). (C) - (IIT). (D) - (IV)
2.(A) - (IT). (B) - (). (C) - (I). (D) - (IV)
3. (A) - (I, (B) - D). (C) - AV). (D) - (I)
4. (A) - (IV). (B) - (II). (C) - (I1). (D) - (I)

Options:

68019132369. 1
68019132370. 2
68019132371.3
68019132372. 4

Question Number : 44 Question Id : 6801918228 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

gcollegedunias

~



Match List I with List II

LISTI
Thermodynamic i
= Features
process
A |Adiabatic I |Volume constant
B. |Isothermal II. |Pressure constant
C. |Isobaric III. |Temperature constant
b e hia v No heat t?h:uw between svstems and
surroundings

Choose the correct answer from the options given below:

- (A) - (I1), (B) - (1), (C) - (TII), (D) - (IV)
(A)-(IV). (B) - (IIT). (C) - (II). (D) - (I)
(A) - (I). (B) - (I1), (C) - (TV). (D) - (IIT)
. (A) - (III). (B) - (IV). (C) - (I). (D) - (II)

2 =

e Laa

Options :

68019132373. 1
68019132374. 2
68019132375. 3

68019132376. 4

Question Number : 44 Question Id : 6801918228 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

gl 161 g4l 11 § i ifore

%‘:;II g
ufssan g
A5G 1. | o RRi®

B. |godrdig IL. |g1d RIS

C. [gHcHE I11. |doEH RS

. [Tt SR ey & AR & §g
THmmaE |1V B 1 v T

Frafaiad [aeedl © 9 el 3 &1 994 $Ifoiu

L. (A) - (I). (B) - (I). (C) - (III). (D) - (IV)
5

(A)- (IV), (B) - (I1I). (C) - (I1). (D) - (D) @ ,
3. (A) - (D). (B) - (D). (C) - (IV), (D) - (III) collegedunia
4. (A) - (III). (B) - AV). (C) - (1). (D) - (1I) -

D.




Options :

68019132373. 1
68019132374. 2
68019132375. 3
68019132376. 4

Question Number : 45 Question Id : 6801918229 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Arrange the following materials in the descending order of resistivity:
(A). Aluminium

(B). Copper

(C). Silver

(D). Tungsten

Choose the correct answer from the options given below:

1. (A). (B). (C). (D).
2. (B). (A). (C). (D).
.(B). (A). (D). (C).
. (D). (A). (B). (C).

e T

Options :

68019132377. 1
68019132378. 2
68019132379. 3
68019132380. 4

Question Number : 45 Question Id : 6801918229 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

gcollegedunias

~



[Frafiad el ! fcRiedl & ged gU BH T aaiud oy:
(A) Tty

(B) dral

(C) Fial

(D) €&

= feu U faeedl o 9 gel 3w I

1. (A). (B). (C). (D).
2. (B). (A). (). (D).
3. (B). (A). (D). (C).
4. (D). (A). (B). (C).

Options :

68019132377. 1
68019132378. 2
68019132379. 3

68019132380. 4

Question Number : 46 Question Id : 6801918230 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Arrange the following ferromagnetic materials in Ascending order of Curie
temperatures:

(A). Cobalt

(B). Gadolinium

(C). Iron

(D). Nickel

Choose the correct answer from the options given below:

1. (A). (B). (C). (D)
2. (B). (A). (D). (C)
3.(B). (A). (C). (D)
4. (B). (D). (C). (A)

Options :
68019132381. 1
68019132382. 2

68019132383. 3

68019132384. 4 .
collegedunia:

~



Question Number : 46 Question Id : 6801918230 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
P die Tt gardl & 9gd aTom & RIg o 3 ol 5%
(A) Pldlec
(B)
(C) AT
(D) FAifpa
- feu e o el O 9§ 981 SR 9|
1. (A), (B), (C), (D)
2. (B). (A), (D). (C)
3.(B). (A). (C). (D)
4. (B). (D). (C). (A)

Options :

68019132381. 1
68019132382. 2
68019132383.3
68019132384. 4

Question Number : 47 Question Id : 6801918231 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Arrange following gases for ascending order of the €,/ Cy:
(A). Ar

(B). Ne

(C). H,

(D). H,O

Choose the CORRECT answer from the options given below:

1. (D). (C).(B).(A)
2. (A). (D).(C).(B)
3. (A). (B).(C).(D)
4. (D). (C).(A).(B)

Options :

68019132385. 1 gcollegedunias

~

68019132386. 2



68019132387. 3
68019132388. 4

Question Number : 47 Question Id : 6801918231 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

FrafaRad 1= B ¢,/ ¢ B SHRIG! HH H HaRyd B
(A) Ar

(B) Ne

(C) H>

(D) Hy0

- feu Y gl O 9 9ol S I |

.(D). (C). (B). (A)
_(A). (D). (C). (B)
.(A). (B). (C). (D)
4. (D). (C). (A). (B)

fad d =

Options :

68019132385. 1
68019132386. 2
68019132387. 3

68019132388. 4

Question Number : 48 Question Id : 6801918232 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

If the frequency of an AC circuit is increased. what happens to the inductive
reactance (X ) of an mductor?

1. Becomes zero

2. Remains constant
3. Decreases

4. Increases

Options :
68019132389. 1 gcollegedunias

~



68019132390. 2
68019132391. 3

68019132392. 4

Question Number : 48 Question Id : 6801918232 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
g U Tl (AC) URYY B SHTqi §¢ el 5. ol U SR & URUT Ulderd (X )
1 &1 BId1 52

L. Y B Ol 8

2. feREaR

3.Ycdlg
4. 9¢ 9T &

Options :

68019132389. 1
68019132390. 2
68019132391. 3

68019132392. 4

Question Number : 49 Question Id : 6801918233 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

An AC circuit consists of a resistor (R). a capacitor (C), and an inductor (L) mn
series. What is the power factor of this circuit?

-1

N2

| R

L]

4.1
Options :
68019132393. 1

68019132394, 2 gcollegedunias

~



68019132395. 3
68019132396. 4

Question Number : 49 Question Id : 6801918233 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

U U1 gRgy H Ush UfRige® (R), U G (C) SR Ush U (L) 4&ar o
oS BU S | 39 U9y &1 ifdd Turie 1 82

-1
12
3.0
4.1
Options :

| B

68019132393. 1
68019132394. 2
68019132395. 3

68019132396. 4

Question Number : 50 Question Id : 6801918234 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Arrange the following in the correct sequence of chronological order:
A. Bernoulli's theorem

B. Conservation of energy

C. Newton's law of motion

D. Kepler's laws

Choose the CORRECT answer from the given option below

1. (D). (B). (C). (A)
2. (D). (C). (B). (A)
.(B). (A). (D), (C)
(C). (B). (D). (A)

e g

Options :

68019132397. 1 gcollegedunias

~

68019132398. 2



68019132399. 3
68019132400. 4

Question Number : 50 Question Id : 6801918234 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fafeiad @1 ufed 85 & G981 Y § oaieyd o
(A) FTclt @ FHT

(B) FHuil ool TR&f0l

(C) e & Tid & Fa|

(D) PR & HgH

9 feu e fdeen § 9§ 98! SR I

(D). (B). (C). (A)
(D). (C). (B). (A)
.(B). (A). (D). (C)
(). (B). (D). (A)

2 =

e L

Options:

68019132397. 1
68019132398. 2
68019132399. 3
68019132400. 4

Question Number : 51 Question Id : 6801918235 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

gcollegedunias

~



Consider the following statements:

(A). The output of a linear OP-amp circuit has the same shape as the mput signal.
(B). At no time during the cycle does the OP-amp go mto saturation.

(C). Non-inverting amplifier possess low input impedance and high output
impedance.

(D). One advantage of inverting amplifier 1s that its voltage gain equals the ratio of
the feedback resistance to the input resistance.

Choose the correct answer from the options given below:

1. (A). (B) and (D) only.
2.(A). (B) and (C) only.
3.(A). (B). (C) and (D).
4.(B). (C) and (D) only.

Options :

68019132401. 1
68019132402. 2
68019132403. 3
68019132404. 4

Question Number : 51 Question Id : 6801918235 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Fafafad Ty ) f[daR &3

[A]?WMW%WH&FWW HR o Tod & 9
el gl

(B) Th & G- fodt U 9y Sifsbarere yads g I =gl sar o |

(C) 3o yasle | & o ufgarer ik 3= fAeid ufaarar sidt g1

(D) WIfaaH! Hatid $1 Ud a1y U8 © [ SHPI dlced] disd G0 TRl &
yfd ufagfy UfRiY & FUTd & SRIeR Bl & |

= f&u T fowed! & 9 98l SR |

1. %ad (A). (B) AR (D)
2. Had (A). (B) 3R (C)
3. (A). (B). (C) 3R (D)

4.%4d (B). (C) 3R (D)

Options :

68019132401 1
gcollegedunias

68019132402. 2
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68019132403. 3

68019132404. 4

Question Number : 52 Question Id : 6801918236 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

In a transistor, the emitter-base depletion layer is narrower than the collector-base
depletion layer. The reason can be attributed to

1. heavier doping in the emitter region and lighter doping in collector region
2. heavier doping in the collector region and lighter doping in emitter region
3. lighter doping in both emitter and collector region
4. heavier doping in both emitter and collector region

Options :

68019132405. 1
68019132406. 2
68019132407. 3

68019132408. 4

Question Number : 52 Question Id : 6801918236 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

CifoReR H, SO - 3R RI WR, T - SMUR RiT &R o o1 H Fepluf
gIdT § | S9PT BRUI gaTdT o 9Hdl o

1. JoHuie &4 H R 3OS SiR TU16e &4 © geal (ufiiyu
2. TR &9 § YR Uiy 3R Iuie &7 § geml gy
3. ICIP R YUED aHl &A1 T HRY iy
4. IOID R YU G &1 J ol Uit

Options :

68019132405. 1

68019132406. 2

68019132407. 3 gcollegedunias

~

68019132408. 4



Question Number : 53 Question Id : 6801918237 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

If a Si wafer with an intrinsic carrier concentration of 101 em™ is doped with 5 >

10% em™ Phosgphorus(P) and 1010 em 3 Boron(B) at room temperature (300 K),
then what 1s the doping in the resultant silicon?

1. Intrinsic
2. n-type

3. p-type
4, unpredictable

Options :

68019132409. 1
68019132410. 2
68019132411.3
68019132412. 4

Question Number : 53 Question Id : 6801918237 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
gfe 1010 em= & A91 TAND aTe® Figdl & 1Y TH Si AT Bl P &

dTIHM (300 K) TR 5 x 1015 em™ BRBRA (P) 3R 1016 em= TR (B) & 91U
Srafifaa fooar oiman 8. af afvom fafereia § saftyur aar g2

1.5

2. n-HPH

3. p-HPRR

4. UM

Options:

68019132409. 1
68019132410. 2

68019132411. 3
collegedunia:

68019132412. 4
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Question Number : 54 Question Id : 6801918238 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Match List I with List IT

LISTI LISTII
(Bravais lattice) (Features)
A | Tnclinie I. |a#bitce, affir290°
B. |Tetragonal II. |a=b=c, a=p==00"
C. |Trigonal III. |a#bsc, a=r=20"p
D. [Monoclinic IV. |a=b=c, a=p=y=00"

Choose the correct answer from the options given below:

(A) - (I). (B) - (I). (C) - (III). (D) - (IV)
(A) - (I). (B) - (ITD). (C) - (II). (D) - (IV)
(A) - (I). (B) - (II). (C) - (IV). (D) - (ITT)
A(A) - (). (B) - (IV). (C) - (I). (D) - (II)

Options:

| B

L]

68019132413. 1
68019132414. 2
68019132415. 3

68019132416. 4

Question Number : 54 Question Id : 6801918238 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

gcollegedunias
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-1 SR Fl-11 o1 faH Sifey

i II
(FTAT3H STet) g
A [FE=ana 1. |agb=c, o=p=y=90°
B. |feoadana II. |a=bc. a=p=y=90°
c. |Eeiig II1. |azb=c, a=y=204p
D. [UhAdIE IV. |a=b=c, a=p=y=90°

4 f3U T fae el & 9 9el SR TH|

1. (A) - (). (B) - (II). (C) - (III). (D) - (IV)
2.(A)-(1). (B) - (). (C) - (II). (D) - (IV)
3.(A)-(1). (B) - (). (C) - (IV). (D) - (II)
4. (A) - (). (B) - AV). (C) - (I). (D) - (II)

Options :

68019132413. 1
68019132414. 2
68019132415.3

68019132416. 4

Question Number : 55 Question Id : 6801918239 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Match List I with List IT

LIST I LIST II
A |[AE+AE 1. [(A+E).(A+E)
B. [AE+AE II. [(A+E).(A+E)
C |a I11. [(A+E).(A+E)
D. |AE IV [(A+E)E

Choose the correct answer from the options given below:

1. (A) - (I). (B) - (1I). (C) - (1II). (D) - (IV)
2.(A) - (D). (B) - (IT). (C) - (IV). (D) - (I)
3.(A) - (ID). (B) - (ITT). (C) - (I). (D) - (IV)
4. (A) - (1), (B) - (IV). (C) - (). (D) - (II)

Options : .
collegedunia:

68019132417.1 s



68019132418. 2
68019132419. 3

68019132420. 4

Question Number : 55 Question Id : 6801918239 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

qfera dISRIUId &1 SYART Db, Yl-1 & 1Y Fal-11 BT He &3

A1 LI
A |AE+AE I. [(A+E).(A+E)
B.[AE+AE II. [(A+E).(A+E)
C. |A 111 [(A+E).(A+E)
D. [AE IV. [(A+E)E
= feu e fae ol & 9 Fet 3 I
1. (A)- (D). (B) - (II). (C) - (III). (D) - (IV)
2. (A) - (II). (B) - (IIT). (C) - (IV). (D) - (I)
3. (A) - ). (B) - II). (C) - (I). (D) - (IV)

4. (A) - (II). (B) - (IV). (C) - (1). (D) - (I1)
Options :
68019132417. 1
68019132418. 2
68019132419. 3
68019132420. 4

Question Number : 56 Question Id : 6801918240 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

gcollegedunias

~



Which of the following are correct statements about logic gates and their
combinations:

(A). The output of an EX-OR gate 15 a logic ‘1’ when the inputs are unlike and a
logic ‘0" when the inputs are like.

(B). The output of a NAND gate is a logic ‘1’ when all its inputs are a logic 1°.
(C). The output of a two-input EX-NOR gate is a logic *1" when the inputs are like
and a logic ‘0" when they are unlike

(D). The shorting the inputs of a NOR gate gives a NOT circuit.

Choose the correct answer from the options given below:

1. (A). (C) and (D) only.
2.(A). (B) and (C) only.
3.(A). (B). (C) and (D).
4.(B). (C) and (D) only.

Options :

68019132421. 1
68019132422. 2
68019132423. 3

68019132424. 4

Question Number : 56 Question Id : 6801918240 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

dd e 3R 390 Ao & aR 8 Fafaad § 3 oF a1 oy 98l &

(A) Td EX-OR Tic @I fFid d% '1' 8idl ¢ g Md¥ [ARid gid g 3R dd 0
g AU TH w9 Bld ¢

(B) Ueh NAND ¢ &1 f-id deh '1' BIdl  9id 38 gt oz difeie 1" §id B
(C) EI-F9Y EX-NOR Tic @1 ffd d% '1' §1d1 & e Hd¥ UF o9 8id & 3R
d% 0 ved f[auddsd §

(D) NOR 7I¢ & a2 &1 TgURUY B34 ¥ NOT URTY el g

i feu e fged! & § 98l SR I

1. %ad (A). (C) 3R (D)
2. Had (A). (B) R (C)
3. (A). (B). (C) 3R (D)

4.%dd (B), (C) AR (D)

Options:

68019132421 1
collegedunia:
68019132422, 2

~



68019132423. 3

68019132424. 4

Question Number : 57 Question Id : 6801918241 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Arrange the following in ascending order in accordance to coordination number
(A). Face centered cubic structured Au

(B). Body centered cubic structured Na

(C). Diamond

(D). NaCl

Choose the correct answer from the options given below:

1. (A). (B). (D). (C).
2. (A). (B). (C). (D).
3. (B). (A). (D). (C).
4. (C). (B). (D). (A).

Options:

68019132425. 1
68019132426. 2
68019132427.3

68019132428. 4

Question Number : 57 Question Id : 6801918241 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

JU-9g =01 & IER Fafafad of 3RIg o0 o ogafiud &3
(A) PAD Digd g IEd Au

(B) 1 diad U9 TR Na

(C) BRI

(D) NaCl

=i feu Y fd@ el O 9§ 961 SR I |

_(A). (B). (D). (C).

.(A). (B). (C). (D). g )
(B, (A). (D). (O). collegedunia:
(C). (B). (D). (A). -

N N



Options :

68019132425. 1
68019132426. 2
68019132427.3
68019132428. 4

Question Number : 58 Question Id : 6801918242 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

For a BJT, assume that Vgg varies between 0.6 and 0.8 V from cutoff to saturation.

Determune the percentage change in Vg if Vg 1s mamtamed constant at 5 V?

1. 3.6%
2.1.3%
3.2.3%

4. No change
Options :
680191324209. 1
68019132430. 2
68019132431. 3

68019132432. 4

Question Number : 58 Question Id : 6801918242 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

BIT & fA10, A d [ Vi 30 § Qi d 0.6 R 0.8 VB S I 81 Vg
o yfcr=rd 1 uiaaH HuUiRa &% R Vg 1 5 V IR RR W@ Il 82

.3.6%
. 1.3%

.2.3%

Options : collegedunia:

~
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e taa



68019132429. 1
68019132430. 2
68019132431. 3

68019132432. 4

Question Number : 59 Question Id : 6801918243 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Determine the decimal equivalent of (1100.1011),

1. 12,6875
2.12.6785
3. 13.6875
4. 11.6785

Options :

68019132433. 1
68019132434. 2
68019132435. 3

68019132436. 4

Question Number : 59 Question Id : 6801918243 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

(1100.1011), BT GRTHAT FHqed HelRd &

1. 12.6875
2.12.6785
3.13.6875
4. 11.6785

Options:
68019132433. 1

68019132434, 2 .
collegedunia:

68019132435. 3 S



68019132436. 4

Question Number : 60 Question Id : 6801918244 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Match List I with List IT

LISTI LISTII
(Device) (Applications)

A |Diode I. |Oscillator

B. |Zener diode II. |Amplifier

C. |Tunnel diode | IIL |Rectifier

D. |Transistor IV, |Voltage Regulator

Choose the correct answer from the options given below:

(A) - (I). (B) - (IT). (C) - (III). (D) - (IV)
- (A) - (I). (B) - (IID), (C) - (II). (D) - (IV)
(A)- (1), (B) - (1), (C) - (IV). (D) - (III)
A(A) - (). (B) - (IV). (C) - (I). (D) - (II)

Options :

| B

e o

68019132437. 1
68019132438. 2
68019132439. 3
68019132440. 4

Question Number : 60 Question Id : 6801918244 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

gcollegedunias

~



! 11 i 11 F e wifore

1 11
ﬁq&:h;?trn (ggm
A |sErs I [eifer
B. [ S@E 1. [vadfds
C. [G& @) sErs| 1L [GFerR
D. |gifereR V. [diecs Famd
fafiRad famedi & I T8l IR &1 99 HIfull ;

L. (A) - (I}, (B) - (IT), (C) - (IIT), (D) - (IV)
2.{A)-(1),(B) - (II), (C) - (II), (D) - {IV)
(A) - (I). (B) - (ID). (C) - (IV). (D) - (III)
4. (A) - (II). (B) - (IV). (C) - (I). (D) - (II)

L)

Options :

68019132437. 1
68019132438. 2
68019132439. 3
68019132440. 4

Question Number : 61 Question Id : 6801918245 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

The Fermi level in an n-type semiconductor at 0K lies

1. below the donor level

2. half way between the bottom of conduction band and donor level
. half way between the top of valence band and the acceptor level
4. coincides with mtrinsic Fermi level

L]

Options :

68019132441. 1
68019132442, 2
68019132443.3

68019132444. 4

gcollegedunias

Question Number : 61 Question Id : 6801918245 Question Type : MC( -



Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
0K TR U n -UFR Hefgasd § BH &R Afed 8

1. SIAT &R 9 A

2. A0 898 AR AT TR & A1 & dig 3 g d

3. TOIGTHdl s & Y IR WieRGd &R & 99 J19 I o
4. 3iafe BHl TR & 91y 9d @idl &

Options :

68019132441.1
68019132442. 2
68019132443. 3

68019132444. 4

Question Number : 62 Question Id : 6801918246 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

53 7
The determinant [4 9 1|18
276
1. 45
2. 49
3.51
4. 53
Options :

68019132445. 1
68019132446. 2
68019132447. 3

68019132448. 4

Question Number : 62 Question Id : 6801918246 Question Type : MCN Nntian Chufflina - Nn Te
Question Mandatory : No Calculator : Scientific Response Time : N.A collegeduniag

Minimum Instruction Time : 0 =



Correct Marks : 4 Wrong Marks : 1

137 :
4913}‘[@%%’

2.5

45
.49
2k
4. 53
Options :

|

Laa

68019132445. 1
68019132446. 2
68019132447. 3

68019132448. 4

Question Number : 63 Question Id : 6801918247 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A and B are two matrices of the same order. If 4B =0 and B4 # 0. then necessarily

(A). A=0
(B). A£0
(C).B=0
(D). B£0
Choose the correct answer from the options given below:

.(B) and (C) only.
. (A) and (C) only.
. (A) and (D).

.(B) and (D) only.

| S =

o a2

Options :

68019132449. 1
68019132450. 2
68019132451.3
68019132452. 4

Question Number : 63 Question Id : 6801918247 Question Type : MC( gcollegedumaé

Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A



Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

AR BUD B I & &l T 6| AR 4B =0 3R B4 = 0, A9 HHard:
(A)A=0
(B) A0
(C)B=0
(D)B+0

- fau U fasedl & 9§ 98l w3

1. 4d (B) 3R (C)
2. %ad (A) 3R (C)
3. %ad (A) AR (D)
4. %4d (B) 3R (D)

Options :

68019132449. 1
68019132450. 2
68019132451.3

68019132452. 4

Question Number : 64 Question Id : 6801918248 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
Match List I with List IT

LISTI LISTII
Circular functions [Hyperbolic functions
A |sinx I. |cosh ix
B. |cosx II. |-itanh Ix
C. |[tenx III. |sech ix
D. |secx IV. |=—{ sinh [x

Choose the correct answer from the options given below:

1. (A) - (). (B) - (II). (C) - (IIT). (D) - (IV)
2.(A) - (IV). (B) - (I).. (C) - (II). (D) - (III)
3.(A) - ({@). (B) - (I). (C) - (IV). (D) - (II)
4. (A) - (II). (B) - (IV). (C) - (I). (D) - (I)

Options:
collegedunia:
68019132453, 1

~



68019132454. 2
68019132455. 3

68019132456. 4

Question Number : 64 Question Id : 6801918248 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A1 SR Fl-11 o1 e o
A I =
T waa | sifameasda wem
A |sinx I |coshix
B. |cosx II. |- {tanh Ix
C. |tenx IIL. |sech ix
D. |secx IV, |=— sinh [x
A= feu e foe el O 9 98t 3w 1
1. (A) - (I). (B) - (II). (C) - (III). (D) - (IV)
5

. (A) - (IV). (B) - (I). (C) - (I). (D) - (I1I)
(A) - (D). (B) - (I). (C) - (IV). (D) - (III)
4. (A) - (III). (B) - (IV). (C) - (1), (D) - (II)

L]

Options :

68019132453. 1
68019132454. 2
68019132455. 3
68019132456. 4

Question Number : 65 Question Id : 6801918249 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

gcollegedunias

~



The argument of (-1 —i) 13

| ]

Options :

68019132457. 1
68019132458. 2
68019132459. 3

68019132460. 4

Question Number : 65 Question Id : 6801918249 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
(=1 ) BT B ¢

=]
1. —
A
4

3

.3. _3.?:

| ]

4

il
4

Options:

68019132457. 1
68019132458. 2
68019132459. 3

68019132460. 4

Question Number : 66 Question Id : 6801918250 Question Type : MCl( .
collegedunia:
Question Mandatory : No Calculator : Scientific Response Time: N.A



Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

8 ?‘I A" y
If J:a{ ;%) and J'== (. y) . then JJ' is equal to
ad(x, v) a(u,v)
1.0
2.-1
3o
4.1
Options :

68019132461. 1
68019132462. 2
68019132463. 3

68019132464. 4

Question Number : 66 Question Id : 6801918250 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

; Ay, v .
afg 72V gie 90 g sRER B
é(x, v) (e, v)

|
[=]

L]
o

4.1
Options :
68019132461. 1
68019132462. 2
68019132463. 3

68019132464. 4

Question Number : 67 Question Id : 6801918251 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No Calculator : Scientific Response Time : N.A T-i=!- Tie== - n1 A

Minimum Instruction Time : 0 gco"egeduniag

~

Correct Marks : 4 Wrong Marks : 1



2 ou ou

X
If y= Eng— .then X +y is equal to
% ox oy
1. 2u
2
3.0
4.1
Options :

68019132465. 1
68019132466. 2
68019132467. 3

68019132468. 4

Question Number : 67 Question Id : 6801918251 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

2 -

X ot Ot ]
ufd y=log— .08 X—+)y— P RRKE
3 ox )

1. 2u
2. u
3.0
4.1
Options :

68019132465. 1
68019132466. 2
68019132467. 3
68019132468. 4

Question Number : 68 Question Id : 6801918252 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1 gcollegeduniag

~



Arrange the following differential equations in ascending order in accordance to
degree

3
. 3
(A) (afy] dz}r
1+ 2| | 222
dx dx
5
dy
®. [Z)] ;=0
(d.r] g
2
(C). d—’;Jraz.x:{}
dx
3
3. ~4
D). x2 d_21 +},[ﬂ) +y4=0
dx dx

Choose the correct answer from the options given below:

1. (C). (A). (D), (B).
2. (B). (A). (C). (D).
3. (B). (A). (D). (C).
4.(C). (D). (B). (A).

Options :

68019132469. 1
68019132470. 2
68019132471.3

68019132472. 4

Question Number : 68 Question Id : 6801918252 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

gcollegedunias

~



Frafaiad srasa THISRUN & I & HTIR 3RIE HH H ogalyd o
3

) 3
(A). (af}]z dz}:
] fpc S
5 dx
5
g
®) ﬁ] I,
\ dx
2
(C). d—éerazx:{}
dx
d3y i dy 4
D). x? {_QJ +y[—) +y4:{}
dx dx
e feu v faw el o 9 gel 3w I

1. (C). (A). (D). (B).
2. (B). (A). (). (D).
3. (B). (A). (D). (C).
4. (C). (D). (B). (A).

Options :

68019132469. 1
68019132470. 2
68019132471. 3

68019132472. 4

Question Number : 69 Question Id : 6801918253 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

gcollegedunias

~



The equation qujl-' — lﬂc_}“z )dx + 3.(%1' gt )
(A). 1s exact.
(B). 1s inexact.

(C). The solution is — — 2 log x + 3 log vy = Constant.
X
X
(D). he solution 15; — 2 log x + 3 log v = Constant

Choose the correct answer from the options given below:.

.(B) and (C) only.
.(B) and (D) only.
. (A) and (D) only:.
. (A) and (C) only.

|

e o

Options :

68019132473. 1
68019132474. 2
68019132475.3

68019132476. 4

Question Number : 69 Question Id : 6801918253 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

HBRT (2y — 202 )de + 32y — 3 =
(A).Hﬁﬂi%|_
(B). HEI® =gl g

y .
(C).8d — —2logx+3logy=TRR& ¢

b

X _
(D).BA — —2logx+3 logy=RRIT T

"L.:'

9 fu e et & 3 a8 IR

1. %ad (B) 3R (D)
2. %ad (B) 3R (C)
3.Pad (A) AR (D)
4.%ad (A) 3R (C)

Options: gcollegedunias

68019132473 1 )



68019132474. 2
68019132475. 3

68019132476. 4

Question Number : 70 Question Id : 6801918254 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The vector p” 7 1s solenoidal . 1if

.n=3
n=1
n=-1
4. n=10

Options :

|

i

68019132477.1
68019132478. 2
68019132479. 3

68019132480. 4

Question Number : 70 Question Id : 6801918254 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

e .7 7 uRAG®Y 3. 3R

1.n=3
2.n=1
J.n=-1
4. n=0

Options:
68019132477. 1
68019132478. 2

68019132479. 3 gcollegedunias

68019132480. 4 b



Question Number : 71 Question Id : 6801918255 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

If pr = xf -+ J,_?; -+ z,-’; 15 a position vector.
Match List I with List IT

==
r
A |div F L
=
B. |curl II. |3
C. [erad |F| I [0
] r
D |grad T V|50
| |

Choose the correct answer from the options given below:

. (A) - (IIT). (B) - (I). (C) - (I). (D) - (IV)
. (A) - (IIT). (B) - (II). (C) - (IV). (D) - (I)
. (A) - (D). (B) - (II). (C) - (IV). (D) - (I)
4. (A) - (ID). (B) - (IIT). (C) - (D). (D) - (IV)

b =

L]

Options :

68019132481. 1
68019132482. 2
68019132483.3
68019132484. 4

Question Number : 71 Question Id : 6801918255 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
gcollegedunias

~



o F=xi +y) +zk @ RRART ]

-1 3R i1 &1 foreH diford
==
r
A div L | oy
=
B. |curl II. |3
C. [erad |F| 111 [0
] r
D |grad T V|5
| d
- fau e faw el O 9§ 981 S I |

1. (A) - dII). (B) - (). (C) - (I). (D) - (IV)
2. (A) - (II). (B) - (). (C) - (IV). (D) - (I)
3.(A) - (IT). (B) - (II). (C) - (IV). (D) - (I)
4. (A) - (D). (B) - (II). (C) - (D). (D) - (IV)

Options :

68019132481. 1
68019132482. 2
68019132483.3

68019132484. 4

Question Number : 72 Question Id : 6801918256 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

gcollegedunias

~



If ;j - tIIE i fﬂf i1 CZ}IE where a. b, ¢ are constants, then IJ ,:i d§ where
. g

S 1s the surface of a unit sphere. is

4

e

—

. %n(a +b+c)

. %n(a +b+c)

| ]

3.0

. %n(gz +bz+cz)

oY

Options :

68019132485. 1
68019132486. 2
68019132487.3

68019132488. 4

Question Number : 72 Question Id : 6801918256 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

W = qxi + byj +czk - T8 a b, RRGE J‘L‘j_dg.ﬁqﬂﬁﬂ.
w61 5 UP gPls Tl B 98 &,

—

: i:u:(a' +£J+£')2

-

| ]

: %TE(H—HEJ—FC)

3. 1

. %n(az +b2+cz)

e

Options :
68019132485 1
68019132486. 2 gcollegedunias

~

68019132487. 3



68019132488. 4

Question Number : 73 Question Id : 6801918257 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Arrange the gravitational potential of a point mass (M) in ascending order for the
tollowing distance from a point:

(A). 2r

(B). 4r

(C). 8t

(D). 16r

Choose the correct answer from the options given below:

1. (A). (B). (C). (D).
2. (A). (C). (B). (D).
3. (B). (A). (D). (C).
4. (D). (C). (B). (A).

Options :

68019132489. 1
68019132490. 2
68019132491. 3

68019132492. 4

Question Number : 73 Question Id : 6801918257 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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1. (A). (B). (C). (D).
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4. (D). (C). (B). (A).



Options :

68019132489. 1
68019132490. 2
68019132491.3

68019132492. 4

Question Number : 74 Question Id : 6801918258 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

According to Kepler's laws. the square of the orbital period T of a planet 13
proportional to

1. the square of its eccentricity
2. the cube of its eccentricity

. the square of its semimajor axis
4. the cube of its semi-major axis

L]

Options :

68019132493. 1
68019132494. 2
68019132495. 3

68019132496. 4

Question Number : 74 Question Id : 6801918258 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options : .
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68019132494. 2
68019132495. 3

68019132496. 4

Question Number : 75 Question Id : 6801918259 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A block moving in air breaks in two parts and the parts separate: Consider the
tollowing correct statements

(A). The total momentum must be conserved

(B). The total kinetic energy must be conserved

(C). The total momentum must change

(D).The total kinetic energy must be changed

Choose the correct answer trom the options given below:

. (A). (B) and (D) only.
. (A) and (C) only.
. (A). (B). (C) and (D).
. (A) and (D) only.
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Options:

68019132497. 1
68019132498. 2
68019132499. 3
68019132500. 4

Question Number : 75 Question Id : 6801918259 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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1. %ad (A). (B) 3R (D)
2. %dd (A) 3R (C)

3. (A). (B). (C) 3R (D)
4. %ad (A) 3R (D)

Options:

68019132497. 1
68019132498. 2
68019132499. 3
68019132500. 4
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